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Complete each family of facts.

1. A 2, 3. A
6 10 8 1
6| x|10| = |60 6| x|3]=1]18 8| x|1]=18
10| x | 6 | = |60 3| x|6]|=1]18 1| x|8|=]38
60| + | 6] =110 18| +|6|=]3 8| «[8]=1]1
60| + [10] = | 6 18| +|3|=]6 8|l +«[1]=18
4 5, 6
6| x|7|=[42 71 x|4|=/|28 2| x| 1]|=1]2
71 x|6|=42 4| x| 7] =128 1l x|2]=]2
42+ |6 | =17 28| + | 7] =14 2« |2|=1]1
42+ 7]=16s 28| + |4 =17 2| «{1]=1]2
7 A 8. 9
10 4
10| x | 4| = |40 100 x| 1]|=]10 2| x|4|=1|38
4| = [10] = |40 1| x [10] = |10 41 x|2]=18
40| + [10] = | 4 10| + [10] = | 1 g8l «|2|=1|4
40| + 4] =110 10 +[1]|=]10 8| «|4|=1]2
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